Mateh-Up

Using the wth Term

The 3™ term of 6 The 5t term of 11 The 20t term
2n+5 4n — 7 of 50 — 4n
The 6t term of - The 8t term of 12 The 9t term of
In + 3 20 — 2n 9.75 + 0.25n
The 10t term The 2 term of The 18™ term
8 13 1
of 5n—1 9—n of2—§n
The 15t term of 9 The 12t term 14 The 4t term of
n—4 of —2n + 25 —1.5n - 20
The 4% term of 10 The 6% term of 15 The 7% term of
n+ 20 7—3n —3.6 —0.2n
The 2" term of F The 4th term of K The 15t term
2n—1 0.5n+9 of 2n—6
The 6t term of G The 15t term of L The 3™ term of
3n —42 n—=6 —0.5—1.5n
The 3 term of H The 7 term of M The 5% term of
n+1 10 — 2n 12n—11
The 10t term ; | The 4t term of N The 8% te;m of
of —n—1 10n — 27 —26—511
The 9t term of J The 15t term of p The 11t term
3n n+5 of 40 — 3n
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